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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)

Cos L= |- €%

[4£*

- dx
4 Find: (@) IS+4cesx

X L

d =/ |
j - AL - ()
S + bwnx 5 + (_‘ﬁ

o Z =5
T 5w + 4 (1-8)

_— = Zdt
- o

L 2 e
tz 4+ 3°

A e E
3/ tr+ 37
. 2 ta)k—\(-—t—> + C
- T 5 o
D foa /)

.JM ,_Z,W{5

Section 4 - Page 3 of 13

ak

>+c




THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)
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THE SUBSTITUTION t = tan(A/2)

x
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THE SUBSTITUTION t = tan(A/2)
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